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I.  (A) Give the difference between Management Accounting and Financial Accounting. 7
(B) Discuss the limitations of Management Accounting. 7
OR

(A) Give the difference between Management Accounting and Cost Accounting.
(B) Discuss the techniques of Management Accounting.

2. Palak Ltd. has an annual production of 100000 units for a motor component. The

component’s cost structure is as below : 14
4
Materials 300 Per unit

Labour (25% fixed) 200 Per unit
Expenses :

Variable 80 Per unit
Fixed 150 Per unit
Total : 730 Per unit

(1) The purchase Manager has an offer from a supplier who is willing to supply each
component at I 575. Should the component be purchased from this supplier and
stopped its production ?

(2) Assume that resources used for this components manufacturing are to be used to
produce another product for which the selling price is ¥ 540 per unit.

If the production of second component is carried out, then the material price
will become ¥ 250 per unit. 100000 units of this product can be produced and the
cost basis as above for labour and expenses.

Discuss whether it would be advisable to divert the resources to
manufacture the new products, on the footing that the component presently being
produced would, instead of being produced, be purchases from the market.

OR
(A) Discuss the factors affecting “Make or Buy” decision. 7
(B) Explain differential cost with illustration. 7
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3. Gopi Ltd. give details of their products “A” and “B” for the year 2014. The
contribution in profit for each product as calculated by accounting department are I 5
per unit of A and X 3 per unit of B. 14
The company cannot sale more than 800 units of A and 500 units of B in whole year.
Utilization of machine hours are as under :

Products Machine hours (per unit)
A 1 Hour
B 5 Hours

Maximum machine hours available are 1300 for both products.
How should the manufacture schedule its production in order to maximize
contribution ? Solve this problem by linear programming. (Graphic Method)

OR
(A) Discuss the basic requirements of Linear Programming. 7
(B) Explain limitations of Linear Programming. 7

4. (A) What is Responsibility Accounting ? How are responsibility centres are
determined ? 7
(B) What is ROI ? Describe the advantages and disadvantages of ROI. 7
OR
(A) Explain various techniques of measuring growth.
(B) Explain Economic Value Added (EVA) in detail.

5. Select the best alternative from alternatives for each question. 14
(1) Management accounting is an extension of
(a) Cost Accounting (b) Financial Accounting
(c) Financial Management (d) None of these
(2) As per Indian Companies Act is obligatory.
(a) Financial Accounts (b) Cost Accounts
(c) Management Accounts (d) None of these

(3) Which technique (method) is not of Management Accounting ?
(a) Service Costing (b) Standard Costing
(c) Decision Accounting (d) None of these
(4) Management Accounting is used for
(a) Internal decision making (b) Past decision
(c) External decision making (d) None of these

(5) Relevant costs are
(a) Future costs (b) Historical costs
(c) Standard costs (d) None of these
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(6) The difference in total cost that results from two alternative courses of action is

called
(a) Differential cost (b) Marginal cost
(c) Relevant cost (d) None of these

(7) As per differential cost concept when the costs increase due to a particulars
decision, it is called
(a) Incremental cost (b) Decremental cost
(c) Marginal cost (d) None of these

(8) Which of the following is important tool of differential cost analysis ?

(a) Profit-volume ratio (b) Break-even-point
(c) Margin of safety (d) None of these
(9) When there are more than two variables in problem, it can be solved by
(a) Simplex method (b)  Graphic method
(¢) (a) and (b) both (d) None of these
(10) Linear programming can be used for
(a) Maximization of profit (b) Minimization of cost
(¢) (a) and (b) both (d) None of these
(11) In Linear programming, objective function can be framed. If business have
(a) One objective (b) Two objectives
(c) Multiple objectives (d) None of these
(12) Responsibility accounting is a method of accounting in which costs are identified
with
(a) Cost centres (b) Persons
(c) Departments (d) None of these

(13) A responsibility centre whose performance is measured by its ROI is known as
(a) Cost centre (b) Investment centre
(c) Profit centre (d) None of these

(14) Sales of a company is I 12,00,000, Cost of goods sold is ¥ 9,00,000 and
Operating expenses of ¥ 50,000 and Capital employed of ¥ 10,00,000. What will
be ROI of Company ?

(a) 20.83% (b)) 25%
() 20% (d) None of these

NG-101 6



Seat No. :

NG-101

December-2015
M.Com., Sem.-III
504 EA/EE : Management Accounting — I

(New Course)

Time : 3 Hours] [Max. Marks : 70
1. A Al (sl uglt 24 Aweusly [aell ugld a2l dstad 2l 7
YAl
A slA [Baell wgladl Hateidl 2l 5.
B) Al el uell 2l [Qaad 24 5103 [[Qada-dl awid?l s2u: 4

©

(i) 9 x -l isHels UMLRL UdR T 80.
(i) 9q x -l YRUR Gl 5000 sHIHL v UddR T 6,00,000.
(i) Y [Q0ReUA 2R UG UHIRL 2UsUels T 50 B2 e eldl vidl-l
luLy.
2

Uaist (& L 20141 e olge Yool Gauler i d2A8L 1000 254l €.
1 254l BAUlet Ml 5 $als AL 9. 2sHels HEAMIA WL T 30 €9 2 1yl
w2l 32069 (5 selseL). g2 Yool AUl [B1d T 60 .

SIRvL, URUR 5000 $ALs AL A 950 VisHI, Gule-d 2y,

sidamdl [Qaad-dl dsleus widz awil.
AlAAL U slSuRL s Aol UL 3
(1) 2wl [[aadl 254l axandl.
2)  s1H0F [qaadl ds4i uxemal.

2. B (& A odl 350 wel 201440 A% yuoadl Al Alusmiel R [Gotdl

qogauui 2udl ¢ - 14
4
LS HIAAMLA 6,00,000
g 1yl 4,00,000
uda vl 80,000
sl e WAl (50% Aldd) 1,50,000
adladl wla vl (Rar) 1,70,000
Q2121 ula vl (60% Aldd) 1,40,000
15l 2,60,000
NG-101 7 P.T.O.



dl. 31-3-201541L A% YU Adi Ul arl Hiedl visle {1 yorol €9

(1) 2L %2l 40% a4l uRd ALl [BHd 20% v2al.

2) WA Boadi s 32512 29 Adl uRq wdleldl adiRl i s1Rel 5%
%ol qeld HOL.

(3) ucda 13l ucda v, Aldd siRvidAl uRla W e Aldd dAael uRis vl
AALRL ALl UHIBLHL UHIRLAR d4sl.

(4) il GURid 1YL 2 Aldd s1RVLAL UR1E WAL €41 15% -l a1l 29

(5) [Raz sirvuql ula wd, R adladl yia wal x4 R dawel ule vl

s 333%, 25% 1 20% AHIRL Ul

6) -l w32uaHl 5 A 2id 2 duR WA 3 dur wadl s els el dl
dMz 3141 Hi=l, 201540 A Y1 Adi ad Hied vielust duR 530 exe
Yoyoidl 5L laal-dl ©.
2
(A) dxd [&. dq “M” 2t A, “N” 214 6l USIRl dadild, Gauled 52 9. 6l dAIRL
[actiot €9 “yd” 2t “uly7, dl. 313 [3A3612, 201441 A% YU Adi 9 Hied

o2 Yool 4Ll A Yool e : 7
S 25HEls AL
o}
[acua a3 visUl Bud @)
yd M 40000 25
N 30000 15
uBay M 28000 25
N 42000 15
GURAL AHAOU SRA(HALA WvR dael 12 Yool e :
SEN! (EREICTN ulay [aeunt

M 45000 1541, 2sHels T25dv 30000 54, xsugls T 25 dvl
N 36000 2541, AsUELS T 15 AU 46000 25Ul sUels T 15 dul
ARAALAL Yedisdd U vl ad 20150 oge Hie A Yool dAuel-l
el HsAUML AL Sl
yd [aeua :
Aq, “M”, 201411 612 Haroiel dARL sl 50% dAIRL AL
Aq, “N”, 201441 61%2 HAotrdl AU 52l 25% dAI8L A4
(IESTE R ETCTETE
Aq, “M”, 201411 612 Haroiel AL sl dAIRL 20% AL
Aq, “N”, 201441 61%2 HoirAl dAIRL Sl dALRL 10% 449l
L BRI 2d %5l sl v ed 5 yd [Actomi A dAwelL Helaq
uRBUH €25 dgril AEIRLAL 8000 VisHld, dULLL Asl.
dMIz 201541 i, dAwL ielrusl ddlR sAl
2014+1L SELAUAAL 2AL5SL 2 VIRV HISIL UL UYL
(B) AL U5l siSuRL sl Aol 2l 4
(1) oladl Halelll
(2)  udadl ege (MRS ol%2) U g5l duil.

9w ug ad
\
2

NG-101 8



©

AL USL S1SuRL gL el 2l
(1) 4l ege 54l Al
(2)  elAUA glRL HigAAAL SISURL 2ABL FIAEL ¢5HL AHAC.

3. ol (& AL Auell siledl 12 yoror dami sudl ¢

BSHELS USdR
ER UHIBL U3dR WRMR U3dR
4 4

Sl
(8 (3all, [3alels T 5) 40
(8 (3ell, [3alels T 6) 48
g 1Y :
(10 5415, sAlsels T 1) 10
(8 5415, sAlsels T 1.50) 12
SI VUL URiA WAl
4 :
(10 5415, sAlsels T 2) 20
(8 5415, sAlsels T 3) 24
Bz : (2Usnels) 3 4

54 U3dR 73 88
Qe Bud (2A5Hels) 100 120
AALRL (AA5HL) 70000 80000

14

dlz el o [QAd-l aed?l saddl 9 A elwe HaoAL A vRUR Asidl
Hoaell salad uas duiR sl €.

(A)
(B)

©

4. (A

NG-101

YA
[a2e-l gl eyl ol Amemal.
AAumifl siSuel sisl FaoL UL :
(1) [ad-l gl 2105080 il $s4i axoal.
) [ad-l Al A0Bs d-l g5l Aol
AL 4 slSueL sl walel Ul

(1) o2 Harorrl vl 2 uMeL w2l 921 dsldd gsMl A1l

) [aa [sduer goedl 212 254l uxamdl.

[Fal (& wsel usdr Ugla-dl Gualol 2 . dd 25 [Qadd-dl du-dl Wl
25,000 22 24 ARl HE. Al duid 2id WRRald g R © 2AH HgH
Ul dl YHRIMS waldidl WA 740,000 29l % dwin suMl A€l 20d dl asizi-l
usdRd adHid yed T 1,90,000 2. Ulsul 2isuui sla-dl etadl 0.80 © i

ulFul iga gl gladl deiarl 0.20 ©.

AR Adle 2l © 3

(1) [Eadadl dun sl 9dl 5 dl.

2)  Actadl 59 el [@adai-dl aur sl oA,
YA

P.T.O.



(A) [aaadlAl dwdl [@fag Hsel 2sHi axamdl.
B) Al WSl siSusL sl FUot UL :
(1) YR 2AdBd [Qaadl axendl.
(2)  5oUdl v ¢ [ q1endl.
(C) AL U8l siSuRL sl Aot 2l 3
(1) igld 2 Baviglud [Qaadl 54l wnendl.
(2)  HAAHIA AU QA H2 AUGLER SIR8LL %RULdl.

5. Al uuAl g5 Uel UsiAl s Sl AR WAl ANAL 9 % USL s Aol WAL

9. AL wAel wie 531 %37 2RI 5 vl 2l 14
(1) duadld (sl ugla 2 NI CESEITNLS

(a)  uddz [s2uell ugla ()  weusla (Baell ugld

(c) usla A{uaq (d) 2unidl 2suel gl
(2) Rdld Su-dl aRlL Yo 59U €.

(@)  ~weusla (sl (b) W3l (el

(c) AAwasly (el (d) 2unidl 2suel 1dl

(3) A% [Qad =
(a) MO UHIBLL — YHURAL UHLEl
(b)  YHIRAL UHICL — W2 uR ueuy
(c) MO UHLRI —vRvR YReuy
(d) uHiel pisue Adl.

(4) s Su-dldl 20t [Acuol vis ag-l 2isHels IRl AlHid usdR T 300 55l
39, s A eAHAUA 6000 sHld GUled UG AR VU UIdR
% 21,00,000 A5 ug AAlesl 2 adHid uRRald el ddi el ysdl 5
aralds Id AHi usdR 2548l T 375 ldl o 51031 [Qaad ¢l
(a) ¥ 1,50,000 (¥i) () % 1,50,000 (Ulct)
(¢)  Z3,00,000 (W) (d)  uiedl 2sue e

(5) uRad-slla iclmust-dl dusasl Haet 6000 2sHiAl Gadled dARL T 18,000 €9,
dl 7500 LsHIAL Gule sLsHEls duRL Sl

(@ X3 by %24

() T133 (d) il 2sue Al
(6) ARUEL oz (MReR olge)d AL UMl YRl vl ud €.

(a) RUss o2 (b)  ARM 61%e

(c) QL exe (d) 2umidl 2suel gl

NG-101 10



(7

®)

®)

(10)

(11)

(12)

(13)

(14)

NG-101

60% Azl sIRULAL U1 WAL T 40,000 £9 211 80% ABdL SIRvUAL YRie Wl

250,000 ¢9, dl GURAML HHAAL R sIRviAL Yila vl ¢l

(@ 50,000 () % 10,000

(c) 40,000 (d) il 25U Al
Sudld, dael g2 dair saudl saeieldl Al .

(a) ol%e dusl (b) ARl HA%R

(c) [saeidla (d) 2unidl 2suel gl

HaAHid v [@aad =

(a) MU QUL [Aaad + HdAMHLd Guy [aad-
(b) MM M (A + HaAM Guy [Qua-
() Ml M [QAAA + HlAAHI QUL [aaa-
(d) uHiEl pisueL Adl.

o3l vl [qaa- vt Al dslad .
(a)  uMLelL ¥l WA v vRvR HYRl v
(b) Rz w3l v A Aldd wyRl vl

(c) ellrd 1Yl vl 2 umwelL 1yl vl
(d)  Guariel syl &l

o\%g2 oAl 15000 VsHIAL Gaulet Hledl g2 Hwoidl Rar uia wd
60,000 9. d AHA (MU YRUR BAUled 16,000 sl 2y &, i b&b{%

22 ula Wl T 68,000 4l edl. R ye W wel [Qadd

(@) ¥4,000 (¥7) (b) 4,000 (Ul)

(c) ¥8,000 () (d)  Gu-unigdl isuel 4l

AL U4 54 [QaeHl-l durig Hisa © 2

(@) 5l-%2l Hlsd (b) g AL HA

(c)  HldAMHIA g Hlse (d)  GuUMl isuel Al

C < (1-P)L Ll Y2441 “C” Al 242 a1y

(a)  YHRIHS waLdl dat-l vzl (b)  dwardl v

(c) iga vl (d)  GuUMl isuel Adl

$4UH. (CUSUM) ALl Gualal "l oy .

(a)  disstauellu YAsdl Hse (b) iga Al Hd

(c)  HeTd YAl Hlse (d)  GuUMAl isuel Adl
11

P.T.O.



Seat No. :

NG-101

December-2015
M.Com., Sem.-III
504 EA/EE : Management Accounting — 1

(New Course)

Time : 3 Hours] [Max. Marks : 70

I. (A

(B)

©

Give the difference between Management Accounting and Financial Accounting. 7
OR
Discuss the limitations of Management Accounting.

Calculate the planning and operational variances from the following information: 4
(i)  Standard cost of product “x” ¥ 80 per unit.
(i)  Actual cost incurred I 6,00,000 on the production of 5000 units of product
X7
(1) Review of standard cost resulting in an opinion that the standard is an
under-estimate to the extent of ¥ 50.
OR
The budget to Priyanka Ltd. for the year 2014 is to produce and sell 1000 units of
a product. Production of 1 unit takes 5 hours. The material cost per unit is ¥ 30
and labour cost is ¥ 20 (for 5 hours). The budgeted sales price is I 60 per unit.
The production department actually worked for 5000 hours and produced
950 units.

Compute the opportunity cost of efficiency variance.

Answer any one of the following : 3
(1) Briefly explain Planning variances.
(2)  Briefly explain Operating variances.

2. The following details have been taken from the books of Misha Ltd. for the year ended

on 31% March, 2014 : 14
4
Direct Materials 6,00,000
Direct Wages 4,00,000
Direct Expenses 80,000
Factory Overheads (50% Variable) 1,50,000
Administration Overheads (Fixed) 1,70,000
Selling Overheads (60% Variable) 1,40,000
Profit 2,60,000

NG-101
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The forecast for the next year as under for the year ending 31-3-2015.

(1) Sales volume will increase by 40% but the selling price will be reduced by 20%.

(2) The raw material prices will remain unchanged but because of increased purchase
a quantity discount 5% will be obtained.

(3) Direct wages, direct expenses, variable factory overheads and variable selling
overheads will increase in proportion to sales volume.

(4) Wages and variable factory overheads will further go up by 15% for increase in
rates.

(5) Fixed Factory Overheads, Fixed Administration overheads and Fixed selling

overheads will increase by 33%%, 25% and 20% respectively.

(6) There will be no stock of work in progress and finished goods in the beginning or
end of the year.
You are required to prepare a budget for the year ending 31* March, 2015
and find out budgeted profit.
OR
(A) Tejal Ltd. produces two products “M” and “N”. There are two sales division
“East” and “West”. Budget sales for the year ending 31* December, 2014 were as

follows : 7
e .. . Selling Price
Divisions Products Units Per Unit (3)
East : M 40000 25
N 30000 15
West : M 28000 25
N 42000 15
Actual sales for the above said period were as follows :
Products East Division West Division

M 45000 units at ¥ 25 each 30000 units at T 25 each
N 36000 units at T 15 each 46000 units at ¥ 15 each

On the basis of the assessment of the Salesmen, the following sales estimates
were made for the next budget period 2015.

East Division :
Product “M”, Budget sales will increase by 50% over 2014 budget.
Product “N”, Budget sales will increase by 25% over 2014 budget.

West Division :
Product “M”, Budget sales will increase by 20% over 2014 budget.
Product “N”, Budget sales will increase by 10% over 2014 budget.

It was further decided that an intensive sales campaign in the East will bring
an additional sales of 8000 units of each products.

You are required to prepare Sales Budget for the year 2015 and give the
Budgeted sales and Actual sales for the current period 2014 also.
(B) Answer any one of the following : 4
(1) Limitations of Budgeting.
(2)  Short note on Master Budget
NG-101 13 P.T.O.



(C) Answer any one of the following :
(1) Briefly explain Capital Budget.
(2)  Briefly explain any three advantages of Budgetary Control.

3. The following particulars are obtained from the records of Gaurang Ltd.

Cost Per Unit
Particulars Standard Cost | Actual Cost
3 3

Raw Materials :
(8kg. at T 5 per kg.) 40
(8kg. at T 6 per kg.) 48
Direct Labour :
(10 hours at X 1 per hour) 10
(8 hours at ¥ 1.50 per hour) 12
Factory Overheads :
Variable :
(10 hours at X 2 per hour) 20
(8 hours at X 3 per hour) 24
Fixed :
(per unit) 3 4

Total Cost 73 88
Selling Price (per unit) 100 120
Sales (units) 70000 80000

You are required to calculate all variances and also prepare reconciliation
statement of Budgeted and Actual profit.
OR
(A) Explain the Dual Plan System of recording variances.

(B) Answer any one of the following :
(1) Explain in brief single plan method of recording variances.
(2) Explain in brief partial plan method of recording variances.

(C) Answer any one of the following :
(1) Explain in brief difference between Budgeted cost and Standard cost.
(2)  Briefly explain the meaning of the term “Variance Analysis”.

4.  (A) Niyati Ltd. using a detailed system of standard costing finds that the cost of
investing of variance is ¥ 25,000. If after investigation an out of control situation
is discovered, the cost of correction is I 40,000. If no investigation is made, the
extra cost involved is I 1,90,000. The probability of the process being in control
is 0.80 and the probability of the process being out of control is 0.20.

You are required to advise
(1)  Whether investigation of the variance should be undertaken or not.
(2) The probability at which it is desirable to company investigation into

variance.
OR
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(A) Explain various models of investigation of variances in brief. 7

(B) Answer any one of the following : 4
(1) Explain interdependence between variances.
(2) Explain Inflation and Price variance.

(C) Answer any one of the following : 3
(1) Explain controllable and uncontrollable variances in brief.
(2) Mention the causes responsible for Material Price Variance.

5. For each of the following sub-questions, more than one answers are given, out of which
only one answer is correct. Select the correct answer. Give necessary calculation or
explanation. 14

(1) Management accounting is an extension of

(a) Cost Accounting (b) Financial Accounting
(c) Financial Management (d) None of these
(2) As per Indian Companies Act, is obligatory.
(a) Financial Accounts (b) Cost Accounts
(c) Management Accounts (d) None of these

(3) Planning variance = .
(a) Original Standards — Revised Standards
(b) Revised Standards — Actual Result
(c) Original Standards — Actual Result
(d) None of these

(4) Planning department of a company set a standard marginal cost of its product is
% 300 per unit. During a month, when 6000 units were made, its actual production
costs amounted to ¥ 21,00,000. But management estimated that a more realistic
standard for current conditions should be I 375 per unit. Operating variance will

be
(a) % 1,50,000 (F) (b) 1,50,000 (U)
(¢) ¥3,00,000 (U) (d) None of these

(5) In a flexible budget format, the depreciation at the output level of 6000 units is
< 18,000, the depreciation per unit at 7,500 unit level would be
(a) %3 (b) 24
(c) 133 (d) None of these

(6) Master budget is also known as
(a) Cash budget (b)  Summary budget
(c) Sales budget (d) None of these
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At 60% capacity level factory overheads are I 40,000 and at 80% capacity level
factory overheads are I 50,000. Amount of fixed factory overhead included in
above amount would be

(a) 50,000 (b) % 10,000

(c) 40,000 (d) None of these

The responsibility for preparation of sales Budget of the company is on
(a) Budget Expert (b) Sales Manager
(c)  Accountant (d) None of these

Material Cost Variance =

(a) Material usage variance + Material yield Variance
(b) Material price variance + Material yield variance
(c) Material price variance + Material usage variance
(d) None of these

Labour cost variance is the difference between

(a) Standard labour cost and Actual labour cost
(b) Fixed labour cost and Variable labour cost

(c) Estimated labour cost and Standard labour cost
(d) None of the above

The budgeted fixed overheads for a budgeted production of 15000 units is
% 60,000. For a that period the actual production was 16000 units and actual
expenditure came to I 68,000. Then the Fixed overhead volume variance is

(a) 4,000 (F) (b) 4,000 (U)

(c) 8,000 (F) (d) None of the above

Which of the following is cost-variance investigation model ?
(a) Profit-Volume Model (b) Control Charts Model
(c) Material Control Model (d) None of the above

In the formula C < (1-P)L, “C” denote for

(a) Cost of corrective measures (b) Cost of investigation
(c) Cost of control (d) None of the above
CUSUM chart is used for

(a) Statistical Significance Model (b) Control Charts Model
(c) Materiality Significance Model  (d) None of the above
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